Year 5



Writing: This half term in writing the children have been focusing on balanced arguments. They learnt about formal register and using the correct language to
convey an expert voice. They worked hard on adding in additional and oppositional conjunctions as well as creating supporting points to back up their ideas. They
produced cohesion, linking all their paragraphs and added some emotive language to make the reader feel passionate about the two sides of the argument. Below is

an excellent example of some work.
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History: In this half term in History been learning all about the Anglo-Saxons. They have worked hard on creating a timeline of why the Anglo-Saxons came to Britain

and where they came from. We have also been exploring how the Anglo-Saxons lived and what life was like for them in Britain. They have all have been enjoying this

topic and are keen to learn more about it. Below is an example of the amazing work they have been doing.
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Science: In science we have been focusing on properties and changes of materials. The children have been learning vital vocabulary such as atom, molecule and
particles. They have been describing materials using different language and practising how to separate different mixtures. They worked scientifically when writing

their experiment up and have produced some fantastic pieces of extended writing. Below is a piece of work showing their incredible effort!
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Maths: This half term in Maths the children have been focusing on reasoning with large numbers and rounding numbers to the nearest 10, 100, 1,000 ,10,000 and
100,000. They have learnt about different methods to work out a sum and continuing to work on the place value of numbers. They have worked really hard on

partitioning numbers to the correct digits. Below are some samples of their work.
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